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SOLUŢII SI BAREM DE CORECTARE 
Clasa a V-a 

Subiectul I 

a.                                                                                           1 p. 2 4 6 ... 100 1 3 5 ... 992 : 2+ + + + + + + +

( ) ( ) ( ) ( ) de50deori
1 1 ... 1

2 1 4 3 6 5 ... 100 992
+ + +

− + − + − + + − = 2

3
3

                                                                             1 p. 
502                                                                                                                         1 p. 

b.                                                                                                     1 p. ( )3 1 1na a+ ⋅ + +

( )3 1na a a⋅ + +             1 p. 

( ) ( )31 2 1 2na a a a a+ ⇒ ⋅ +              1 p. 

( )3 1 3 2na a a⋅ + +            1 p. 
Total: 7 p. 

Subiectul II 

Dacă ( ) ( ) ( )1 2a b c d abcd a a a a< < < ⇒ = + + + 3
2

2 2

                                                 1 p. 

( ) ( )3 11 12 :a a a+ = +                                                                                               1 p. 

( ) ( )3 11 1a a a+ ∈ ⇒ +                                                                                       1 p. 

{ }2,4,6a ∈                                                                                                                 1 p. 

4 4567a abcd= ⇒ =                                                                                                 1 p. 
Dacă ( ) ( ) ( )3 2 1a b c d d d d d> > > ⇒ + + +                                                             1 p. 
S =∅                                                                                                                          1 p. 

Total: 7 p. 

Subiectul III 

Pentru  ( )1 5n u a= ⇒ =

 ( )2 8n u a= ⇒ =  
 { } ( )3,4 0n u a∈ ⇒ =                                                                                      2 p. 
Pentru                                                                              1 p. (5 1 2 3 ... 0n u n≥ ⇒ ⋅ ⋅ ⋅ ⋅ =)
Pentru ( )*5, 2 , 6n n k k u a≥ = ∈ ⇒ =                                                                  2 p. 

Pentru ( )5, 2 1, 4n n k k u a≥ = + ∈ ⇒ =                                                               2 p. 
Total: 7 p. 

Subiectul IV 

Dacă { }5 5 5 55, 1 500 1, 2, 3, 4i ix i x M M M M≤ ≤ ⇒ ∈ + + + +                               2 p. 

( )4
5 51 1M M+ = + , ( ) , ( )4 4

5 52 2M M M+ = + = +5 1 4
5 53 1M M+ = + , 

         2 p. ( )4
5 4M M+ = +5 1



5 2 4 6 ... 1000 500 501N M M= + + + + + = + ⋅5                                                          2 p. 
5N                                                                                                                            1 p. 

Total: 7 p. 
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